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Robotic Toolbox [5]

31

' Robotic Toolbox ROBOOP
C

(real time), C

) (serial port)
C (compile)
(link) '

311

(text  file)



end-effector,

Denavit-Hartenberg, ) ,

3.12

« DirectKinematic

« JacobianKinematic

« InverseDynamic q
o InertiaM atrix (B) q

« selectTorque

« DirectDynamic q

LU Decomposition [16]

¢ rk4 Runge-Kutta 4 [16]
q

+ trajectory t2
trajectory) qi
tf

qf

1

(desired



QQQ

=

0.0
0.0
0.0
0.0
0.0

'
v

1.0
0.0
0.0
0.0
0.0
0.0
0.0

3.1:

-0.04
0.0583
le-6
0.25
-0.075
le-6
0.0
1.0
0.0
0.0
0.0
0.0
0.0

0.0
0.0
0.0
0.0
0.0
90.0
0.1075
100.0
0.0
0.0051
100.0
0.0
0.0051
100.0
90.0
0.1022
100.0
0.0
0.1
100.0
0.0
0.0
1.0
0.0
0.0
0.0
-9.81

0.0
0.1052
0
0.0
0.1153
0
0.0
0.1111
0
0.0
0.1022
0
0.0
0.1
0
0.0
0.0
0.0

1.0

11.0

-0.0071

6.0

-0.001

6.0
-0.001

6.0
-0.001

5.0
-0.001

-0.0682
-0.001

-0.1125

-0.001

-0.0958

-0.001

0.0
-0.001

0.0
-0.001

18

-0.0818
-0.001

0
0.0
-0.001

0.0
-0.001

0.0
-0.001

0.0
-0.001



3.2

321

15

Robotic

19

Robotic Toolbox [5]

Toolbox Matlab 53 (R11)

3.1

Robotic Toolbox

Matlab

q [T 71402,71-03,71-14,71-15]
0 5

0781450 —05Gr™6 0.258819 0.1638%0

0587785 0800016 00 00 1)

-0.209389 0152130 0965925 (0.986481 '
00 00 00 10

1 q = [t e/ 2, 71-13,7r/4,7r/5]

00 0626481 0356481 0241481 00

01638% 00 00 00 00
00 -0.263890 -0.263890 -0.064704 00 32)
00 00 00 00 0258319 '
00 10 10 10 00
10 00 0.0 00 096595
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3.
qg=9qg=9q-= [T,d2, I/3, w4, T/ 5] Inverese Dynamic
T = [12646935 - 32.046272 - 26.776050 - 3.985348 - 0.001293]
4. q - [M,71-12,71-13,71-14,71-/5]
0551260 -0.172793 -0.014493 0.001976 0.004868
0172793 4628813  2.3458% 0895392 0.0013%
0014493 23%8% 1586116 057594 0.0013%
0001976 08%3%2 057594 0386669 0.00139
000488 00013% 0001396 0.00139% 0.0150
322
Matlab
Matlab
LU Decomposition [16]
10 10 X 10
e = Mtrace((J - A*B)T{l -A * B)) (3.4)
B A
'3.2 Matlab
9.850 X 10“15
2.071 X 10~14
323
Matlab
ode3 (Bogcki-Shampine), oded4 (Runge-Kutta) 0dé5

(Dormand-Prince) Matlab

1



(x 10-12)

e
1 0.00450801720069

2 0.01748183712541

3 0.14211506355398

4 0.00210537114564

5 0.00445418897049

6 0.00950221652834

7 0.00741150483758

8 0.00656610254874

9 0.00468561631726

10 0.00833367747230

3.2:
5
0.01
! 3.2
5
3
, 3.3
53 5.1
(implementation)
ode3, oded ode5 Matlab
X- -2x +1
Runge-Kutta
3.4
, 3.5 3.6
M atlab '

3.7

e Matlab (X10-12)
0.002432744808268
0.008597611563832
0.052598612920776
0.001859604782881
0.004335675724154
0.008404805238430
0.006103842419051
0.003975824093649
0.0033 265708123
0.006892735511618

0 rad 2 rad
0 2
Runge-Kutta 4 [16]
4
Matlab
1 oded
Runge-Kutta 4
Runge-Kutta 4
4 Matlab
ode3
Runge-Kutta 4
t = 2x+ 1

21

M atlab

odeb



q,(ode) - g, (ode4)

1 I 1 1

o] 0.5 1 1.5 2 25 3 3.5 4 4.5 s
time(s)
3.1: 1 odeb oded M atlab
-7
10x1° T T

q,(odes) - q,(oded)

_4 1 —- - 1 A1 1 1 1
o] 0.5 1 1.5 2 25 3 35 4 4.5 5
time(s)

31J°ﬁ 3.2: ANHUANAIBINN B Tadai | Gl¢ia1n odes waz ode3 U9 Matlab

Matlab (mantissa)

3.8

22



3.4
M atlab

M atlab

5.1)

963,
N

0.5 1.5 25 3 3.5 4 45 5
time(s)
3.3 1 oded M atlab 5.3
9 T T T T T T ) |
8- -
7k -
6 B
5 -
v4_ |
3r -
2+ -
ir -
0 1 1 1 1 1 1 1
0 0.5 1.5 2 25 3 3.5 4 4.5 =
time(s)
Runge-Kutta 4
Runge-Kutta 4
5 12

-

5

1

L

N

5.1

23



0 1 1 1 1 1 e
0 0.5 1 1.3 2 25 3 3.5 < 4.5 ]
time(s)

3.5: oded odeb M atlab

-

0 I I 1 1 1

0 0.5 1 1.5 2 25 3 35 4 4.5 S
time(s)
3.6: oded ode3 M atlab
5 3.3

err = \ £ yrrmatlab [ _ Mibrary[ )2

3.4 12



2+

-3t

-4 -

diff x

-5}

-7}

-8}

-9

L 1 1 1 1 L L

3.7:

x 10

~14

0.5

1 1.5 2 25 3 3.5 4
time(s)

Runge-Kutta 4

-8

L 1 1 . 1 1 1

3.8:

1 5
3.182 X 10-3

1 1.5 2 28 3 3.5 4

time(s)

Runge-Kutta

4012 X103, 4.166 X 10~3, 4.039 X 10-3,

3.9-3.11

4

3.769 X 10-3

25



qi (rad) qf (rad)
1 [0,0,0,0,0] [tV2, w2, t2, t/2, t/2]
2 [(t2, /2, «/2, t/2, tt/2] [TT, 7T, 7T, T, 7]
3 [T, 7T, , 777 [3t/2, 3102, 3tt/2, 3t/2, 3et/2]
4 [3t2, 3t/2, 3t/2, 3102, 3tt/2] [27T, 21T, 21T, 27T, 271]
5 /2, 762, Tl 4, Trl4, Tt/4] [T, 71,3744, 7 14, 7 /4]
6 [0,0,0,0,0] [tW2, 2, w2, w2, t2]
7 (M2, w2, w2, /2, t/2] [2r, T, 7T, 71, 7]
8 [TT, 7T, 7T, T, 7r] B2, 32, 3t/2, 32, 3tW/2]
9 [3td2, 3t2, 3t/2, 3102, 3tt/2] [27T, 27T, 21T, 27T, 271]
10 [lt2, iz, 4, Tld, Ttl4] [T, 7,37¢/4, 37¢/4, 37¢/4]
11 [0,0,0,0,0] [12, 12, /2, w2, T/2]
12 [0,0,0,0,0] [t2, w2, w2, w2, tt2]
"33
(~ 01 )
( 4-5
PID 3.11
PID
1 PID
Matlab
PID
, 3.4
1 ms 15 7.329 X10-4,
8.401 X 10-4 5.763 X 10-4

6 10 10 mS

6.554 XKT3,8.140 X10“3,8.398 X10“3 6.955 X 10“3

Ts (ms)

10
10
10
10
10

1 5

INV
INV
INV
INV
INV
INV
INV
INV
INV
INV
VSC
PID

M atlab

8.083 X10-4, 8.137 X10%4,

7502 X103,



(err)

91 92 93 9 95
1 6.66474E-04 6.57079E-04 1.14765E-03 5.20136E-04 6.62999E
2 8.45827E-04 8.13102E-04 4.84607E-04 1.28679E-04 8.51391E
3 8.57020E-04 9.05153E-04 1.23288E-03 5.59019E-04 8.40898E
4 8.51597E-04 §8.83657E-04 5.72070E-04 1.35208E-03 8.49058E
5 8.47970E-04 9.40770E-04 4.77470E-04 1.10447E-03 8.38805E
6 6.64139E-03 6.55591E-03 1.13895E-02 5.23727E-03 6.60508E
7 8.46732E-03 8.15212E-03 4.90229E-04 1.28022E-03 8.52230E
8 8.57990E-03 9.05525E-03 1.22813E-02 6.55597E-03 8.41520E
9 8.52069E-03 8.81970E-03 5.81675E-03 1.34207E-02 8.50059E
10 8.49111E-03 9.40754E-03 4.80193E-03 1.10207E-02 8.39800E
11 9.64550E-04 4:16745E-04 3.57623E-04 6.61592E-04 7.86048E
12 2.40718E-03 3.38704E-03 8.56985E-03 3.38166E-03 5.82213E
, 3.4 M atlab
9 T T T T T T T =1 F T
sk
7F
Al
B4l
3._
sl
1._
0 ) MR 1 1 1 1 1 1 1 L
0 0.5 1 1.5 2 25 3 3.5 4 4.5
time(s)
3.9: 1 M atlab

-04
-04
-04
-04
-04
-03
-04
-03
-03
-03
-04
-04



1

L

3.10:

10 T T .

25
time(s)

1

Matlah

\n

q,(lib) - q,(mat)

1

0 0.5 1 1.5 2

3.11L
12

25
time(s)

1

3 3.5 4 4.5

Matlah

28



q,(rad)

0.8

0.6

0.4

0.2

—: PRI
INV

1 1 1 1 1 1 1 1 1

0.5 1 15 2 2.5 3 3.5 4 4.5 §

time(s)

, 3.12: 1 1 u

29
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